
Dividing Powers

9N5 ­ Explain and apply the exponent laws 
for powers with integral exponents:

xm ÷ xn = xm ­ n

Note that the base does not change, only the 
exponent changes.

When dividing powers with the same base, 
subtract the exponents.

Dividing Powers

y7 ÷ y2
= (y)(y)(y)(y)(y)(y)(y)

= (y)(y)(y)(y)(y)
= y5

(y)(y)

Pull
Pull

Examples:

x5

x2
= (x)(x)(x)(x)(x)

= x3
(x)(x)

42

=     (4)(4)

=    1

=    1

(4)(4)(4)(4)

(4)(4)

16

44

45 ÷ 43 = 4n



x3 ÷ x = xn y4 ÷ yn = y3

Example: Simplify the following.



We can also combine exponent rules. Simplify the following.

Pu
ll

Pu
ll Pull

Pull

Simplify the following.
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Part I: Review

1. Which of the following diagrams best illustrates the sets of Natural, Whole, Integer, Rational and Irrational Numbers? (1 mark)
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2. Each of the small squares below has an area of 9 cm2. What is the perimeter of the entire rectangle? Place a box around your answer. (1 mark)
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3. Which of the following expressions represents 
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4. What is the value of 
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 in the following? (1 mark)
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Part II: Dividing Powers

5. Simplify the following. Express your answer in exponential form. (1 mark each)
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6. Find the value of 
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Answer the following questions using complete sentences.

7. A student said that 
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a. Explain the mistake the student made. (1 marks)


b. What is the value of 
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8. Find the value of n for each of the following. (6 marks)
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9. Simplify each of the following. (6 marks)
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10. What is the value of n in the following expression? (1 marks)
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Part I: Review

1. Evaluate the following expression given that 
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2. A rope is tied to a tree and to a stake in the ground. The stake is 1.2 m from the tree and the rope is tied 0.9 m up in the tree. How long is the rope? (1 mark)
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3. What is the value of 
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 in the following equation? (1 mark)
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Part II: Exponent Rules

4. Simplify each of the following. Express your answer as a power. (1 mark each)
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5. Simplify. (1 mark each)
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6. Write each expression as a power. (1 mark each)
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7. Write each expression as a power. (1 mark each)
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